Transfers Report

This report contains the transfers results.

Contest Name	Ward 1 - Musselburgh
Valid Votes	7,356
Positions to be Filled	4
Quota	1,472

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ruaridh BENNETT	Scottish Labour Party	1,074
Susan BUTTS	Scottish Liberal Democrats	312
Stephen CARTER	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	79
Cher CASSINI	Scottish National Party (SNP)	1,596
Andy FORREST	Scottish Labour Party	1,209
Michelle GRAHAM	Alba Party for Independence	84
Katie MACKIE	Scottish Conservative and Unionist	1,082
Shona MCINTOSH	Scottish Greens - Think Global Act Local	991
lain WHYTE	Scottish National Party (SNP)	929
	Total	7,356

Candidate Cher CASSINI Elected with 1,596 votes, being in excess of the quota of 1,472

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Cher CASSINI

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	52	0.07769	4.03988
Transfer to Susan BUTTS	24	0.07769	1.86456
Transfer to Andy FORREST	66	0.07769	5.12754
Transfer to Michelle GRAHAM	22	0.07769	1.70918
Transfer to Shona MCINTOSH	139	0.07769	10.79891
Transfer to Iain WHYTE	1,200	0.07769	93.22800
No further preference	79	0.07769	6.13751
Not transferred due to rounding			0.00676
	Total		124.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Stephen CARTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	3	1.00000	3.00000
Transfer to Susan BUTTS	9	1.00000	9.00000
Transfer to Andy FORREST	8	1.00000	8.00000
Transfer to Michelle GRAHAM	7	1.00000	7.00000
Transfer to Katie MACKIE	18	1.00000	18.00000
Transfer to Shona MCINTOSH	16	1.00000	16.00000
Transfer to Iain WHYTE	4	1.00000	4.00000
Transfer to Susan BUTTS	1	0.07769	0.07769
Transfer to Andy FORREST	1	0.07769	0.07769
Transfer to Michelle GRAHAM	1	0.07769	0.07769
Transfer to Iain WHYTE	3	0.07769	0.23307
No further preference	14	1.00000	14.00000
No further preference	2	0.07769	0.15538
Not transferred due to rounding			0.00000
	Total		79.62152

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Michelle GRAHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	10	1.00000	10.00000
Transfer to Susan BUTTS	3	1.00000	3.00000
Transfer to Andy FORREST	9	1.00000	9.00000
Transfer to Katie MACKIE	6	1.00000	6.00000
Transfer to Shona MCINTOSH	17	1.00000	17.00000
Transfer to Iain WHYTE	29	1.00000	29.00000
Transfer to Ruaridh BENNETT	3	0.07769	0.23307
Transfer to Andy FORREST	1	0.07769	0.07769
Transfer to Shona MCINTOSH	5	0.07769	0.38845
Transfer to Iain WHYTE	12	0.07769	0.93228
No further preference	17	1.00000	17.00000
No further preference	2	0.07769	0.15538
Not transferred due to rounding			0.00000
	Total		92.78687

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Susan BUTTS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	69	1.00000	69.00000
Transfer to Andy FORREST	56	1.00000	56.00000
Transfer to Katie MACKIE	55	1.00000	55.00000
Transfer to Shona MCINTOSH	65	1.00000	65.00000
Transfer to Iain WHYTE	19	1.00000	19.00000
Transfer to Ruaridh BENNETT	8	0.07769	0.62152
Transfer to Andy FORREST	1	0.07769	0.07769
Transfer to Shona MCINTOSH	6	0.07769	0.46614
Transfer to Iain WHYTE	5	0.07769	0.38845
No further preference	60	1.00000	60.00000
No further preference	5	0.07769	0.38845
Not transferred due to rounding			0.00000
	Total		325.94225

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Iain WHYTE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	66	1.00000	66.00000
Transfer to Andy FORREST	131	1.00000	131.00000
Transfer to Katie MACKIE	10	1.00000	10.00000
Transfer to Shona MCINTOSH	515	1.00000	515.00000
Transfer to Ruaridh BENNETT	102	0.07769	7.92438
Transfer to Andy FORREST	96	0.07769	7.45824
Transfer to Katie MACKIE	11	0.07769	0.85459
Transfer to Shona MCINTOSH	660	0.07769	51.27540
No further preference	259	1.00000	259.00000
No further preference	351	0.07769	27.26919
Not transferred due to rounding			0.00000
	Total		1,075.78180

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Shona MCINTOSH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	346	0.11693	40.45778
Transfer to Andy FORREST	388	0.11693	45.36884
Transfer to Katie MACKIE	41	0.11693	4.79413
Transfer to Ruaridh BENNETT	133	0.00908	1.20764
Transfer to Andy FORREST	112	0.00908	1.01696
Transfer to Katie MACKIE	11	0.00908	0.09988
No further preference	829	0.11693	96.93497
No further preference	554	0.00908	5.03032
Not transferred due to rounding			0.01838
	Total		194.92890

Transfers Report

This report contains the transfers results.

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	340	0.00013	0.04420
No further preference	241	0.00001	0.00241
No further preference	32	0.00000	0.00000
Not transferred due to rounding			0.01543
	Total		0.20465

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Katie MACKIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruaridh BENNETT	437	1.00000	437.00000
Transfer to Ruaridh BENNETT	10	0.11693	1.16930
Transfer to Ruaridh BENNETT	7	0.07769	0.54383
Transfer to Ruaridh BENNETT	8	0.00908	0.07264
Transfer to Ruaridh BENNETT	61	0.00013	0.00793
Transfer to Ruaridh BENNETT	4	0.00001	0.00004
Transfer to Ruaridh BENNETT	1	0.00000	0.00000
No further preference	734	1.00000	734.00000
No further preference	31	0.11693	3.62483
No further preference	10	0.07769	0.77690
No further preference	3	0.00908	0.02724
No further preference	64	0.00013	0.00832
No further preference	4	0.00001	0.00004
Not transferred due to rounding			0.00000
	Total		1,177.23107

1,177.23107